w. resisuals

counts

w. resisuals

counts

w. resisuals

counts

D0 DA DA DO DA DA D0 DA DA D0 DA DA
‘ fD\D fD\D fA\D‘ ‘ fD|D fD\D fND‘ ‘ fD\D fmn fA\D‘ ‘ fD|D fD\D fA\D‘

34 34 34 3
Oyt — 2 IO WPV IV IIVY T B °"WWWMM_ 2 O U
34 ] -3 ] -3 ] 3
T T T T T > T T T T T > T T T T > T T T T T
34 %] 34 %] 34 7] 3
34 o 3] o 3] o 3
oy ® St — * Sy — S e
34 -34 34 3
N18C/Q344C (Ry) =69 A {N18C/V540C (R,,y=40A/0.28 INI8C/Q577C (R, y=45A10.35 Q254C/Q344C
109 9 Roy=62AI072| g (R, =63A1065| g (R,)=76A110
c c E c
35 3 3
o o o
10° 4 T T r T r T T T r T T T T T v
4 6 8 10 12 14 2 4 6 8 10 12 4 6 8 10 12 14 2 4 6 8 10 12
time (ns) time (ns) time (ns) time (ns)
— e — e e e

WOW WOoOW Wow
w. resisuals
“ow
w. resisuals
“ow
w. resisuals
wow

1Q344ciTas1c 1Q344c/p496C Q344CIQ525C

@ (Rp)=45A7044( R,y=43A/072| (R, =51A70.63
2 2 2 B
5 (R,)=59A/056| S (R,p=65A/028| S (Rp) =36 A 7037
o o =]
o o o
10° N : : . , r . ‘
4 6 8 10 12 14 4 6 8 10 12 2 4 6 8 10 12 14
time (ns) time (ns) time (ns) time (ns)
‘ B — ‘ ‘ R p— ‘ ‘ R p— ‘ ‘ 20 f0A {on ‘

D|p D|p AID Djp bjp AD Djp bjp AD Djp bjp AD

wow

w. resisuals
bow

w. resisuals
wow A

w. resisuals
bow

04 0 0 0
-39 -34 -34 -34

Q344C/V540C T481C/Q525C A496C/V540C 1Q254C/Q577C

— E ] R,)=53A/0.16
] Ro)=58A1065 | g Ry=T1AI10 | 2 Ry=64AI10 | @ Bop=eal
(R, =44A 1035 5 5 S (Ro) =71AT0.84
o o o
(8] J (8] (8] i
10° T r T ¥ T T T T T T T T T v v
4 6 8 10 12 14 2 4 6 8 10 12 14 4 6 8 10 12 14 2 4 6 8 10 12

time (ns) time (ns) time (ns) time (ns)



